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Aufgabe 11.1

(a)
1

x−4
= x4

(b)
2

p−2
= 2p2

Aufgabe 11.2
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x
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3

)3
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x3
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(b)

(
1

7a

)−2

= (7a)2 = 49a2

Aufgabe 11.3
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)3
=
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10−6
= 106z3
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=
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Aufgabe 11.4
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)4

= 22 = 4
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Aufgabe 11.5

(a) 0.000 345 = 3.45 · 10−4

(b) 0.000 000516 = 5.16 · 10−7

Aufgabe 11.6

(a) 176.2 · 10−12 = 1.762 · 1010

(b) 0.0094 · 10−34 = 9.4 · 10−37

Aufgabe 11.7

a = 4−2 =
1

42
=

1

16

b = 6−2 =
1

62
=

1

36

c = 3−5 =
1

35
=

1

243

d = 5−3 =
1

53
=

1

125

e = 2−4 =
1

24
=

1

16

f = 6−3 =
1

63
=

1

216

⇒ c < f < d < b < a = e

Aufgabe 11.8

a = 20−1 =
1

20

b = 0.125−2 =

(
1

8

)−2

= 82 = 64

c = 7−3 =
1

73
=

1

343

d = −2−9 = − 1

29
= − 1

512

e = 110 = 1

f = 0.1−2 =

(
1

10

)−2

= 102 = 100

⇒ d < c < a < e < b < f
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